Sec 1.7.1
Expressing Solutions in Intervals

Two types of notations- interval and set

Interval Set Sketch
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closed open

parenthesis- endpoint(s) is not part of solution interval
brackets- endpoint(s) are included









Unions and Intersections
...of sets

Unions- set of elements in both sets...combining the sets
Symbol-
me Ay B

Formal definition- The union of sets A and B, written AU B,
IS the set of elements that are members of set A or set B.

A'B = {x l X is an element of A or x is an element of B}
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Intersections-

...what the two sets have in common, what is in BOTH
....In a graph, where they overlap

Symbol- A N B

Formal definition-

The intersection of sets A and B, ANB, is the set of elements
common to both set A and set B.

ANB = {xlx is an element of A and x is an element of B}



A visual...

Union... .
Intersection...

ANB

AUB



Another visual

1B)

AUB={1,25,7, 8}

ANB={p, q m}




-Finding Intersections and Unions of Intervals-

Use graphs to find each set:
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Answer in interval notation (the notation initially used)...




Use graphs to determine each set-
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*Suggested Practice*

Sec1.7
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